RN EAA T —RIA ) 2 X588

EHARE

2019412 H 13 H

hZale LT

a=hx2"+meRBERES %,

pla)=h*x2°+m—1&0 A=hx2¢FTNIL,

A=p(a) —m+12Yp(h) = p(A) T, h=372561Xp(A) = 2°,
3p(A) =a—milix5, AEDZ &ho

EE 1 FESMEm AT ETBEI LA 7R v B2, A= pla)—
m+13p(A)=a—m Z723TaTHD AZZTDNN—hrF -2\,

EE 1 m=0D5H4,
A=p(a)+1
3p(A) =a
B a,AlXa=2x3 DT AFIERTA=2/ 314127k 5,
(7272L f > 0,e > 0)

AIERH

al¥ 3 DRERZIN S a =3°L(L 1k 3 THINZRW) B3,
A=2x3"1p(L)+1

p(A) =3"'L

ZZTLIMEBEY L=2"M(ZZTIEMIZ2TE 3 THENZ)
EHIT5, £oT

A=2"%31p(M) +1

0(A) =27 %31 M

U7z T, 1< A—p(A) =2 %3 HpM)-M)+1<1
1=A—p(A)=2" %3 p(M)-M)+1=1
LXoTAFEHR M=1

a=2" %3 AFFEHMTA=2/ 3141



h=3m=0D¢ EDFERHMNEAAT—RANLY XE2Ma, TD/SN— FF—
AGGEE) IR PRI NS,

Wz
FHE20=2"%3 L AFFEHTA=2" 431+ 18561 A=9(a) +1

3p(A) =a ZHi7=7,

AL
A=p(2F %3%) =271 525371 +1 =2/« 371 4+ 1 THEHLD
3p(A) =3%(A—-1)=2"x3°=qa

a | BRSO A |A=2Tx3"14+1 FEK
6 |2%3 3 |3=2+1

12 ] 22%3 5 | 5=2241

18 | 2%32 7 T=2%x3+1

36 | 22 % 32 13 [13=2%2%x3+1
48 | 2% %3 17 [17=2"+1

54 | 2% 33 19 [19=2%32+1
108 | 22 % 33 37 | 37=22x32+1
216 | 23 %33 73 | 73=23%32+41
288 | 2° % 32 97 |97 =2°%3+1
324 | 22 x 34 109 | 109 =22 % 3% +1
486 | 2% 3° 163 | 163 =2%3*+1
576 | 26 % 32 193 193 =20%3+1
768 | 28 %3 257 | 257 =28 +1




